

HERMITE-HADAMARD TYPE INEQUALITIES INVOLVING FRACTIONAL INTEGRAL OPERATOR FOR FUNCTIONS WHOSE THIRD DERIVATIVES IN ABSOLUTE VALUE ARE S-CONVEX

LOREDANA CIURDARIU¹

Abstract. *The aim of this article is to give new generalized Hermite-Hadamard like type inequalities involving the Riemann-Liouville fractional integral for functions whose absolute values of third derivatives are s-convex in the second sense. In order to do that an integral identity for three times differentiable mapping involving fractional integral operators is established. Several consequences are then presented in some special cases.*

Keywords: *Hermite-Hadamard type inequality; Holder inequality; convex functions.*

1. INTRODUCTION

Convexity is an essential notion used in mathematics, mathematical statistics, convex programming, approximation theory and many other fields. In the recent years many variants of convex functions have been defined and are intensively studied by many researchers in applied sciences. Convex functions are very important in the formulation of new inequalities.

The Hermite-Hadamard inequality [1], discovered in 1893, is one of them, which describe lower and upper bound of the integral mean of a convex function over an interval $[a, b]$. This inequality was first generalized by Fejer in [2]. Nowadays this inequality is generalized by defining new classes of convex functions which are clearly related to classical convex functions and by establishing similar results.

The Hermite-Hadamard inequality is considered one of the most useful inequalities in mathematical analysis having a lot of generalizations, extensions refinements and many applications, see for example [3-15].

The aim of this paper is to establish new Hermite-Hadamard like inequalities for functions whose third derivative in absolute values are s-convex in the second sense, by using as a main tool a new integral identity involving the Riemann-Liouville fractional integral. Several consequences are pointed out for some special cases as setting $x = \frac{a+b}{2}$ or $s = 1$.

2. MATERIALS AND METHODS

¹ Politehnica University of Timisoara, Department of Mathematics, 300006, Timisoara, Romania. E-mail:

Let $f: I \rightarrow \mathbf{R}$, be a convex function on the interval I in the set of real numbers \mathbf{R} . Then for any $a, b \in I, a < b$, $f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x)dx \leq \frac{f(a)+f(b)}{2}$, and this is the classical Hermite-Hadamard inequality [1].

In the following the necessary definitions and results which will be used below will be stated.

Definition 2.1. A function $f: [0, \infty) \rightarrow \mathbf{R}$ is called s-convex in the second sense if $f(tx + (1-t)y) \leq t^s f(x) + (1-t)^s f(y)$, for all $x, y \in [0, \infty)$ and all $t \in [0, 1]$.

The definition of s-convexity in the second sense was given in Breckner's article [16].

A hierarchy of convexity and several classical inequalities was presented in [17].

Definition 2.2. ([18]) Let $f \in L_1[a, b]$. The Riemann-Liouville integrals $J_{a^+}^\alpha f$ and $J_{b^-}^\alpha f$ of order $\alpha > 0$ with $a \geq 0$ are defined by

$$J_{a^+}^\alpha f(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} f(t) dt, \quad x > a$$

$$J_{b^-}^\alpha f(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} f(t) dt, \quad x < b$$

respectively where $\Gamma(\alpha) = \int_0^\infty u^{\alpha-1} e^{-u} du$ is the Gamma function of Euler and $J_{a^+}^0 f(x) = J_{b^-}^0 f(x) = f(x)$. In the case when $\alpha = 1$ the fractional integral becomes the classical integral.

The following class of functions was defined formally by Raina in [19],

$$\mathcal{F}_{\rho, \lambda}^\sigma(x) = \mathcal{F}_{\rho, \lambda}^{\sigma(0), \sigma(1), \dots}(x) = \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(\rho k + \lambda)} x^k \quad (\rho, \lambda > 0; |x| < R),$$

where the coefficients $\sigma(k)$ ($k \in \mathbf{N}$) is a bounded sequence of positive real numbers and R is the set of real numbers and Γ is the function Gamma of Euler, see also [18]. The following left-sided and right-sided fractional integral operators were respectively defined as below, by Raina [19] and Agarwal et al. [20],

$$\left(\mathcal{J}_{\rho, \lambda, a^+; w}^\sigma \varphi\right)(x) = \int_a^x (x-t)^{\lambda-1} \mathcal{F}_{\rho, \lambda}^\sigma[w(x-t)^\rho] \varphi(t) dt \quad (x > a > 0) \quad (1)$$

$$\left(\mathcal{J}_{\rho, \lambda, b^-; w}^\sigma \varphi\right)(x) = \int_x^b (t-x)^{\lambda-1} \mathcal{F}_{\rho, \lambda}^\sigma[w(t-x)^\rho] \varphi(t) dt \quad (0 < x < b), \quad (2)$$

where $\rho, \lambda > 0, w \in \mathbf{R}$ and $\varphi(t)$ is such that the integral on the right side exists. More integral inequalities involving this operator can be found in [20]. It is known that if $\mathfrak{M} = \mathcal{F}_{\rho, \lambda+1}^\sigma[w(b-a)^\rho] < \infty$, then $\left(\mathcal{J}_{\rho, \lambda, a^+; w}^\sigma \varphi\right)(x)$ and $\left(\mathcal{J}_{\rho, \lambda, b^-; w}^\sigma \varphi\right)(x)$ are bounded integral operators on $L(a, b)$ and moreover, for $\varphi \in L(a, b)$, $\|\left(\mathcal{J}_{\rho, \lambda, a^+; w}^\sigma \varphi\right)(x)\|_1 \leq \mathfrak{M}(b-a)^\lambda \|\varphi\|_1$ and $\|\left(\mathcal{J}_{\rho, \lambda, b^-; w}^\sigma \varphi\right)(x)\|_1 \leq \mathfrak{M}(b-a)^\lambda \|\varphi\|_1$, where $\|\varphi\|_p = \left(\int_a^b |\varphi(t)|^p dt\right)^{\frac{1}{p}}$. The classical

$$a)^\rho t^\rho\}} f'''(tx + (1-t)a)dt - \int_0^1 \{t^2 \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] - t^{\lambda+2} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho t^\rho]\} f'''(tx + (1-t)b)dt. \quad (1)$$

Proof: It will be used the following notations,

$$I_1 = \int_0^1 t^2 \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] f'''(tx + (1-t)a)dt,$$

$$I_2 = \int_0^1 t^2 \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] f'''(tx + (1-t)b)dt,$$

$$I_3 = \int_0^1 t^{\lambda+2} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho t^\rho] f'''(tx + (1-t)a)dt,$$

$$I_4 = \int_0^1 t^{\lambda+2} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho t^\rho] f'''(tx + (1-t)b)dt.$$

Integrating by parts I_1 and then changing the variables $u = tx + (1-t)a$ we have,

$$\begin{aligned} I_1 &= \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] \left\{ \frac{f''(x)}{x-a} - \frac{2}{x-a} \left[\frac{tf'(tx+(1-t)a)}{x-a} \right]_0^1 - \int_0^1 \frac{f'(tx+(1-t)a)}{x-a} dt \right\} = \\ &= \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] \left\{ \frac{f''(x)}{x-a} - \frac{2f'(x)}{(x-a)^2} + \frac{2[f(x)-f(a)]}{(x-a)^3} \right\}. \end{aligned}$$

Analogously, for I_2 we get, $I_2 = \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] \left\{ \frac{f''(x)}{x-b} - \frac{2f'(x)}{(x-b)^2} + \frac{2[f(x)-f(b)]}{(x-b)^3} \right\}$.

For I_3 by the same method, we obtain successively,

$$\begin{aligned} I_3 &= \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] \frac{f''(x)}{x-a} - \int_0^1 t^{\lambda+1} \mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho t^\rho] \frac{f''(tx+(1-t)a)}{x-a} dt = \\ &= \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] \frac{f''(x)}{x-a} - \{t^{\lambda+1} \mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho t^\rho] \frac{f'(tx+(1-t)a)}{(x-a)^2} \Big|_0^1 - \\ &\quad - \int_0^1 t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho t^\rho] \frac{f'(tx+(1-t)a)}{x-a} dt\} = \\ &= \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] \frac{f''(x)}{x-a} - \mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho] \frac{f'(x)}{(x-a)^2} + \frac{1}{(x-a)^2} \{t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho t^\rho] \frac{f'(tx+(1-t)a)}{x-a} \Big|_0^1 - \\ &\quad - \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma[w(x-a)^\rho t^\rho] \frac{f'(tx+(1-t)a)}{x-a} dt\} = \\ I_3 &= \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] \frac{f''(x)}{x-a} - \mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho] \frac{f'(x)}{(x-a)^2} + \mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho] \frac{f(x)}{(x-a)^3} - \\ &\quad - \frac{1}{(x-a)^\lambda} \int_a^x (u-a)^{\lambda-1} \mathcal{F}_{\rho,\lambda}^\sigma[w(x-a)^\rho] f(u) du. \end{aligned}$$

From here,

$$I_3 = \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] \frac{f''(x)}{x-a} - \mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho] \frac{f'(x)}{(x-a)^2} + \mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho] \frac{f(x)}{(x-a)^3} - \frac{(\mathcal{J}_{\rho,\lambda,x^-;wf}^\sigma)(a)}{(x-a)^{\lambda+3}},$$

and

$$I_4 = \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] \frac{f''(x)}{x-b} - \mathcal{F}_{\rho,\lambda+2}^\sigma[w(b-x)^\rho] \frac{f'(x)}{(x-b)^2} + \mathcal{F}_{\rho,\lambda+1}^\sigma[w(b-x)^\rho] \frac{f(x)}{(x-b)^3} + \frac{(\mathcal{J}_{\rho,\lambda,x^+;wf}^\sigma)(b)}{(b-x)^{\lambda+3}}.$$

Subtracting I_3 from I_1 and I_4 from I_2 , we have,

$$I_1 - I_3 = \frac{f'(x)}{(x-a)^2} \{ \mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] \} + \frac{2[f(x)-f(a)]}{(x-a)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] - \mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho] \frac{f(x)}{(x-a)^3} + \frac{(\mathcal{J}_{\rho,\lambda,x^-;wf}^\sigma)(a)}{(x-a)^{\lambda+3}}$$

and

$$I_2 - I_4 = \frac{f'(x)}{(x-b)^2} \{ \mathcal{F}_{\rho,\lambda+2}^\sigma[w(b-x)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] \} + \frac{2[f(x)-f(b)]}{(x-b)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] - \mathcal{F}_{\rho,\lambda+1}^\sigma[w(b-x)^\rho] \frac{f(x)}{(x-b)^3} - \frac{(\mathcal{J}_{\rho,\lambda,x^+;wf}^\sigma)(b)}{(b-x)^{\lambda+3}}.$$

Computing now the expression $I_1 - I_3 - (I_2 - I_4)$ the desired equality will be obtained.

This lemma can be used for obtaining the following inequalities via fractional integral operator for three time differentiable functions whose value are s-convex in the second sense.

Theorem 3.2. Let $f: [a, b] \rightarrow \mathbf{R}$ be a three times differentiable function on the interval $[a, b]$ with $a < b, \lambda > 0$. If $|f'''|$ is s-convex in the second sense on (a, b) then we have the following inequality:

$$|f'(x)| \left\{ \frac{\mathcal{F}_{\rho, \lambda+2}^\sigma [w(x-a)^\rho] - 2\mathcal{F}_{\rho, \lambda+3}^\sigma [w(x-a)^\rho]}{(x-a)^2} - \frac{\mathcal{F}_{\rho, \lambda+2}^\sigma [w(b-x)^\rho] - 2\mathcal{F}_{\rho, \lambda+3}^\sigma [w(b-x)^\rho]}{(x-b)^2} \right\} +$$

$$\frac{2[f(x)-f(a)]}{(x-a)^3} \mathcal{F}_{\rho, \lambda+3}^\sigma [w(x-a)^\rho] - \frac{2[f(x)-f(b)]}{(x-b)^3} \mathcal{F}_{\rho, \lambda+3}^\sigma [w(b-x)^\rho] - f(x) \left\{ \frac{\mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(x-a)^3} - \frac{\mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho]}{(x-b)^3} \right\} +$$

$$\frac{(\mathcal{J}_{\rho, \lambda, x^-}^\sigma; wf)(a)}{(x-a)^{\lambda+3}} + \frac{(\mathcal{J}_{\rho, \lambda, x^+}^\sigma; wf)(b)}{(b-x)^{\lambda+3}} \leq |f'''(x)| \left\{ \mathcal{F}_{\rho, \lambda+3}^{\sigma_{1,s}} [w(x-a)^\rho] + \mathcal{F}_{\rho, \lambda+3}^{\sigma_{1,s}} [w(b-x)^\rho] \right\} +$$

$$|f'''(a)| \left\{ \mathcal{F}_{\rho, \lambda+3}^{\sigma_{2,s}} [w(x-a)^\rho] + |f'''(b)| \mathcal{F}_{\rho, \lambda+3}^{\sigma_{2,s}} [w(b-x)^\rho] \right\},$$

$$\text{where } \sigma_{1,s}(k) = \sigma(k) \frac{\lambda + \rho k}{(s+3)(\rho k + \lambda + s + 3)}$$

and $\sigma_{2,s}(k) = \sigma(k)[B(3, s+1) - B(\rho k + \lambda + 3, s+1)]$, $\rho, \lambda > 0, w \in \mathbf{R}, s \in (0, 1]$. The function $B(., .)$ is the beta function of Euler.

Proof: It will be used here Lemma 3.1 and the properties of modulus. We will obtain then,

$$|I_1 - I_3 - (I_2 - I_4)| =$$

$$= |f'(x)| \left\{ \frac{\mathcal{F}_{\rho, \lambda+2}^\sigma [w(x-a)^\rho] - 2\mathcal{F}_{\rho, \lambda+3}^\sigma [w(x-a)^\rho]}{(x-a)^2} - \frac{\mathcal{F}_{\rho, \lambda+2}^\sigma [w(b-x)^\rho] - 2\mathcal{F}_{\rho, \lambda+3}^\sigma [w(b-x)^\rho]}{(x-b)^2} \right\} +$$

$$\frac{2[f(x)-f(a)]}{(x-a)^3} \mathcal{F}_{\rho, \lambda+3}^\sigma [w(x-a)^\rho] - \frac{2[f(x)-f(b)]}{(x-b)^3} \mathcal{F}_{\rho, \lambda+3}^\sigma [w(b-x)^\rho] - f(x) \left\{ \frac{\mathcal{F}_{\rho, \lambda+1}^\sigma [w(x-a)^\rho]}{(x-a)^3} - \frac{\mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-x)^\rho]}{(x-b)^3} \right\} +$$

$$\frac{(\mathcal{J}_{\rho, \lambda, x^-}^\sigma; wf)(a)}{(x-a)^{\lambda+3}} + \frac{(\mathcal{J}_{\rho, \lambda, x^+}^\sigma; wf)(b)}{(b-x)^{\lambda+3}} \leq \int_0^1 |t^2 \mathcal{F}_{\rho, \lambda+3}^\sigma [w(x-a)^\rho] - t^{\lambda+2} \mathcal{F}_{\rho, \lambda+3}^\sigma [w(x-a)^\rho] t^\rho| |f'''(tx + (1-t)a)| dt +$$

$$\int_0^1 |t^{\lambda+2} \mathcal{F}_{\rho, \lambda+3}^\sigma [w(b-x)^\rho] t^\rho - t^2 \mathcal{F}_{\rho, \lambda+3}^\sigma [w(b-x)^\rho]| |f'''(tx + (1-t)b)| dt \leq \sum_{k=0}^{\infty} \frac{\sigma(k) |w|^k (x-a)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \int_0^1 (t^2 - t^{\rho k + \lambda + 2}) |f'''(tx + (1-t)a)| dt +$$

$$+ \sum_{k=0}^{\infty} \frac{\sigma(k) |w|^k (b-x)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \int_0^1 (t^2 - t^{\rho k + \lambda + 2}) |f'''(tx + (1-t)b)| dt.$$

Taking into account that $|f'''|$ is s-convex in the second sense, we get

$$|I_1 - I_3 - (I_2 - I_4)| \leq \sum_{k=0}^{\infty} \frac{\sigma(k) |w|^k (x-a)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \int_0^1 (t^2 - t^{\rho k + \lambda + 2}) [t^s |f'''(x)| + (1-t)^s |f'''(a)|] dt +$$

$$+ \sum_{k=0}^{\infty} \frac{\sigma(k) |w|^k (b-x)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \int_0^1 (t^2 - t^{\rho k + \lambda + 2}) [t^s |f'''(x)| + (1-t)^s |f'''(b)|] dt =$$

$$= \sum_{k=0}^{\infty} \frac{\sigma(k) |w|^k (x-a)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \left\{ |f'''(x)| \frac{(\rho k + \lambda)}{(s+3)(\rho k + \lambda + s + 3)} + |f'''(a)| [B(3, s+1) - B(\rho k + \lambda + 3, s+1)] \right\} +$$

$$+ \sum_{k=0}^{\infty} \frac{\sigma(k) |w|^k (b-x)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \left\{ |f'''(x)| \frac{(\rho k + \lambda)}{(s+3)(\rho k + \lambda + s + 3)} + |f'''(b)| [B(3, s+1) - B(\rho k + \lambda + 3, s+1)] \right\} =$$

$$= |f'''(x)| \left\{ \mathcal{F}_{\rho, \lambda+3}^{\sigma_{1,s}} [w(x-a)^\rho] + \mathcal{F}_{\rho, \lambda+3}^{\sigma_{1,s}} [w(b-x)^\rho] \right\} + |f'''(a)| \mathcal{F}_{\rho, \lambda+3}^{\sigma_{2,s}} [w(x-a)^\rho] +$$

$$+ |f'''(b)| \mathcal{F}_{\rho, \lambda+3}^{\sigma_{2,s}} [w(b-x)^\rho].$$

Corollary 3.3. If it will be considered in previous theorem $s = 1$, then we have,

$$|f'(x) \left\{ \frac{\mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho]}{(x-a)^2} - \frac{\mathcal{F}_{\rho,\lambda+2}^\sigma[w(b-x)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho]}{(x-b)^2} \right\} + \frac{2[f(x)-f(a)]}{(x-a)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] - \frac{2[f(x)-f(b)]}{(x-b)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] - f(x) \left\{ \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho]}{(x-a)^3} - \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma[w(b-x)^\rho]}{(x-b)^3} \right\} + \frac{(\mathcal{J}_{\rho,\lambda,x^-}^\sigma;wf)(a)}{(x-a)^{\lambda+3}} + \frac{(\mathcal{J}_{\rho,\lambda,x^+}^\sigma;wf)(b)}{(b-x)^{\lambda+3}} | \leq |f'''(x)| \left\{ \mathcal{F}_{\rho,\lambda+3}^{\sigma_{1,1}}[w(x-a)^\rho] + \mathcal{F}_{\rho,\lambda+3}^{\sigma_{1,1}}[w(b-x)^\rho] \right\} + |f'''(a)| \mathcal{F}_{\rho,\lambda+3}^{\sigma_{2,1}}[w(x-a)^\rho] + |f'''(b)| \mathcal{F}_{\rho,\lambda+3}^{\sigma_{2,1}}[w(b-x)^\rho], \text{ where } \sigma_{1,1}(k) = \sigma(k) \frac{\lambda+\rho k}{4(\rho k+\lambda+4)} \text{ and } \sigma_{2,1}(k) = \sigma(k)[B(3,2) - B(\rho k+\lambda+3,2)], \rho, \lambda > 0, w \in \mathbf{R}.$$

Corollary 3.4. If in previous theorem we take $x = \frac{a+b}{2}$, then we have,

$$| \frac{16}{(b-a)^3} \left\{ f\left(\frac{a+b}{2}\right) \left[2\mathcal{F}_{\rho,\lambda+3}^\sigma \left[w\left(\frac{b-a}{2}\right)^\rho \right] - \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w\left(\frac{b-a}{2}\right)^\rho \right] \right] - [f(a) + f(b)] \mathcal{F}_{\rho,\lambda+3}^\sigma \left[w\left(\frac{b-a}{2}\right)^\rho \right] \right\} + \frac{(\mathcal{J}_{\rho,\lambda,\frac{a+b}{2}^-}^\sigma;f)(a) + (\mathcal{J}_{\rho,\lambda,\frac{a+b}{2}^+}^\sigma;f)(b)}{\left(\frac{b-a}{2}\right)^{\lambda+3}} | \leq 2 |f''' \left(\frac{a+b}{2}\right)| \mathcal{F}_{\rho,\lambda+3}^{\sigma_{1,s}} \left[w\left(\frac{b-a}{2}\right)^\rho \right] + (|f'''(a)| + |f'''(b)|) \mathcal{F}_{\rho,\lambda+3}^{\sigma_{2,s}} \left[w\left(\frac{b-a}{2}\right)^\rho \right], \text{ where } \sigma_{1,s}(k) = \sigma(k) \frac{\lambda+\rho k}{(s+3)(\rho k+\lambda+s+3)} \text{ and } \sigma_{2,s}(k) = \sigma(k)[B(3,s+1) - B(\rho k+\lambda+3,s+1)], \rho, \lambda > 0, w \in \mathbf{R}, s \in (0,1].$$

Theorem 3.5. Let $f: [a, b] \rightarrow \mathbf{R}$ be a three times differentiable function on the interval $[a, b]$ with $a < b$. If $|f'''|^q$ is s -convex in the second sense on (a, b) and $q > 1$, where $\frac{1}{p} + \frac{1}{q} = 1$, then the following inequality holds:

$$|f'(x) \left\{ \frac{\mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho]}{(x-a)^2} - \frac{\mathcal{F}_{\rho,\lambda+2}^\sigma[w(b-x)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho]}{(x-b)^2} \right\} + \frac{2[f(x)-f(a)]}{(x-a)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] - \frac{2[f(x)-f(b)]}{(x-b)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] - f(x) \left\{ \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho]}{(x-a)^3} - \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma[w(b-x)^\rho]}{(x-b)^3} \right\} + \frac{(\mathcal{J}_{\rho,\lambda,x^-}^\sigma;wf)(a)}{(x-a)^{\lambda+3}} + \frac{(\mathcal{J}_{\rho,\lambda,x^+}^\sigma;wf)(b)}{(b-x)^{\lambda+3}} | \leq \frac{[|f'''(x)|^q + |f'''(a)|^q]^{\frac{1}{q}}}{(s+1)^{\frac{1}{q}}} \mathcal{F}_{\rho,\lambda+3}^{\sigma_3} [w(x-a)^\rho] + \frac{[|f'''(x)|^q + |f'''(b)|^q]^{\frac{1}{q}}}{(s+1)^{\frac{1}{q}}} \mathcal{F}_{\rho,\lambda+3}^{\sigma_3} [w(b-x)^\rho],$$

where $\sigma_3(k) = \sigma(k) \frac{B^{\frac{1}{p}}(\frac{3}{\rho k+\lambda+p})}{(\rho k+\lambda)^{\frac{1}{p}}}$, $\rho, \lambda > 0, w \in \mathbf{R}, s \in (0,1]$ and $B(\dots)$ is the beta function of Euler.

Proof: From Lemma 3.1, Holder's inequality and the s -convexity in the second sense of $|f'''|^q$ we obtain the following inequality,

$$\begin{aligned}
& |f'(x) \left\{ \frac{\mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho]}{(x-a)^2} - \frac{\mathcal{F}_{\rho,\lambda+2}^\sigma[w(b-x)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho]}{(x-b)^2} \right\} + \\
& \frac{2[f(x)-f(a)]}{(x-a)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] - \frac{2[f(x)-f(b)]}{(x-b)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] - f(x) \left\{ \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho]}{(x-a)^3} - \right. \\
& \left. \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma[w(b-x)^\rho]}{(x-b)^3} \right\} + \frac{(J_{\rho,\lambda,x^-}^\sigma;wf)(a)}{(x-a)^{\lambda+3}} + \frac{(J_{\rho,\lambda,x^+}^\sigma;wf)(b)}{(b-x)^{\lambda+3}} \Big| \leq \int_0^1 |t^2 \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] - t^{\lambda+2} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho t^\rho]| |f'''(tx + (1-t)a) + \int_0^1 |t^{\lambda+2} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho t^\rho] - t^2 \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho]| |f'''(tx + (1-t)b)| dt \leq \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(x-a)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \int_0^1 (t^2 - t^{\rho k + \lambda + 2}) |f'''(tx + (1-t)a)| dt + \\
& + \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(b-x)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \int_0^1 (t^2 - t^{\rho k + \lambda + 2}) |f'''(tx + (1-t)b)| dt \leq \\
& \leq \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(x-a)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \left(\int_0^1 (t^2 - t^{\rho k + \lambda + 2})^p dt \right)^{\frac{1}{p}} \left(\int_0^1 |f'''(tx + (1-t)a)|^q dt \right)^{\frac{1}{q}} + \\
& + \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(b-x)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \left(\int_0^1 (t^2 - t^{\rho k + \lambda + 2})^p dt \right)^{\frac{1}{p}} \left(\int_0^1 |f'''(tx + (1-t)b)|^q dt \right)^{\frac{1}{q}} \leq \\
& \leq \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(x-a)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \left(\int_0^1 t^{2p} (1 - t^{\rho k + \lambda})^p dt \right)^{\frac{1}{p}} \left(\int_0^1 [t^s |f'''(x)|^q + (1-t)^s |f'''(a)|^q] dt \right)^{\frac{1}{q}} + \\
& + \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(b-x)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \left(\int_0^1 t^{2p} (1 - t^{\rho k + \lambda})^p dt \right)^{\frac{1}{p}} \left(\int_0^1 [t^s |f'''(x)|^q + (1-t)^s |f'''(b)|^q] dt \right)^{\frac{1}{q}} = \\
& = \frac{[|f'''(x)|^q + |f'''(a)|^q]^{\frac{1}{q}}}{(s+1)^{\frac{1}{q}}} \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(x-a)^{\rho k} B^{\frac{1}{p}}(\frac{3}{\rho k + \lambda}, p)}{\Gamma(\rho k + \lambda + 3) (\rho k + \lambda)^{\frac{1}{p}}} \\
& + \frac{[|f'''(x)|^q + |f'''(b)|^q]^{\frac{1}{q}}}{(s+1)^{\frac{1}{q}}} \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(b-x)^{\rho k} B^{\frac{1}{p}}(\frac{3}{\rho k + \lambda}, p)}{\Gamma(\rho k + \lambda + 3) (\rho k + \lambda)^{\frac{1}{p}}} = \\
& = \frac{[|f'''(x)|^q + |f'''(a)|^q]^{\frac{1}{q}}}{(s+1)^{\frac{1}{q}}} \mathcal{F}_{\rho,\lambda+3}^{\sigma_3}[w(x-a)^\rho] + \frac{[|f'''(x)|^q + |f'''(b)|^q]^{\frac{1}{q}}}{(s+1)^{\frac{1}{q}}} \mathcal{F}_{\rho,\lambda+3}^{\sigma_3}[w(b-x)^\rho].
\end{aligned}$$

Corollary 3.6. If in previous theorem it is taken $x = \frac{a+b}{2}$ then we have,

$$\left| \frac{16}{(b-a)^3} \left\{ f\left(\frac{a+b}{2}\right) \left[2\mathcal{F}_{\rho,\lambda+3}^\sigma \left[w\left(\frac{b-a}{2}\right)^\rho \right] - \mathcal{F}_{\rho,\lambda+1}^\sigma \left[w\left(\frac{b-a}{2}\right)^\rho \right] \right] - [f(a) + f(b)] \mathcal{F}_{\rho,\lambda+3}^\sigma \left[w\left(\frac{b-a}{2}\right)^\rho \right] \right\} + \frac{\left(\mathcal{J}_{\rho,\lambda,\frac{a+b}{2}^-}^\sigma f \right)(a) + \left(\mathcal{J}_{\rho,\lambda,\frac{a+b}{2}^+}^\sigma f \right)(b)}{\left(\frac{b-a}{2}\right)^{\lambda+3}} \right| \leq \frac{\mathcal{F}_{\rho,\lambda+3}^{\sigma_3} \left[w\left(\frac{b-a}{2}\right)^\rho \right]}{(s+1)^{\frac{1}{q}}} \left\{ [|f'''(\frac{a+b}{2})|^q + |f'''(a)|^q]^{\frac{1}{q}} + [|f'''(\frac{a+b}{2})|^q + |f'''(b)|^q]^{\frac{1}{q}} \right\}.$$

Theorem 3.7. Let $f: [a, b] \rightarrow \mathbf{R}$ be a three times differentiable function on the interval $[a, b]$ where $a < b$. If $|f'''|^q$ is s -convex in the second sense on (a, b) and $q > 1$, where $\frac{1}{p} + \frac{1}{q} = 1$, then the following inequality for generalized fractional integral operators holds:

$$\left| f'(x) \left\{ \frac{\mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho]}{(x-a)^2} - \frac{\mathcal{F}_{\rho,\lambda+2}^\sigma[w(b-x)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho]}{(x-b)^2} \right\} + \frac{2[f(x)-f(a)]}{(x-a)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] - \frac{2[f(x)-f(b)]}{(x-b)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] - f(x) \left\{ \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho]}{(x-a)^3} - \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma[w(b-x)^\rho]}{(x-b)^3} \right\} + \frac{\left(\mathcal{J}_{\rho,\lambda,x^-}^\sigma f \right)(a)}{(x-a)^{\lambda+3}} + \frac{\left(\mathcal{J}_{\rho,\lambda,x^+}^\sigma f \right)(b)}{(b-x)^{\lambda+3}} \right| \leq \mathcal{F}_{\rho,\lambda+3}^{\sigma_{3,s}} [w(x-a)^\rho] + \mathcal{F}_{\rho,\lambda+3}^{\sigma_{4,s}} [w(b-x)^\rho],$$

where

$$\sigma_{3,s}(k) = \sigma(k) \left(\frac{\rho k + \lambda}{3(\rho k + \lambda + 3)} \right)^{1-\frac{1}{q}} [|f'''(x)|^q \frac{\rho k + \lambda}{(s+3)(\rho k + \lambda + s + 3)} + |f'''(a)|^q (B(3, s+1) - B(\rho k + \lambda + 3, s+1))]^{\frac{1}{q}},$$

$$\sigma_{4,s}(k) = \sigma(k) \left(\frac{\rho k + \lambda}{3(\rho k + \lambda + 3)} \right)^{1-\frac{1}{q}} [|f'''(x)|^q \frac{\rho k + \lambda}{(s+3)(\rho k + \lambda + s + 3)} + |f'''(b)|^q (B(3, s+1) - B(\rho k + \lambda + 3, s+1))]^{\frac{1}{q}},$$

$\rho, \lambda > 0, w \in \mathbf{R}, s \in (0, 1]$ and $B(\dots)$ is the beta function of Euler.

Proof: It will be used again the Lemma 3.1, and properties of modulus and we have,

$$\begin{aligned} & |I_1 - I_3 - (I_2 - I_4)| \leq \\ & \leq |f'(x)| \left\{ \frac{\mathcal{F}_{\rho,\lambda+2}^\sigma[w(x-a)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho]}{(x-a)^2} - \frac{\mathcal{F}_{\rho,\lambda+2}^\sigma[w(b-x)^\rho] - 2\mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho]}{(x-b)^2} \right\} + \\ & \frac{2[f(x)-f(a)]}{(x-a)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] - \frac{2[f(x)-f(b)]}{(x-b)^3} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho] - f(x) \left\{ \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma[w(x-a)^\rho]}{(x-a)^3} - \frac{\mathcal{F}_{\rho,\lambda+1}^\sigma[w(b-x)^\rho]}{(x-b)^3} \right\} + \\ & \frac{\left(\mathcal{J}_{\rho,\lambda,x^-}^\sigma f \right)(a)}{(x-a)^{\lambda+3}} + \frac{\left(\mathcal{J}_{\rho,\lambda,x^+}^\sigma f \right)(b)}{(b-x)^{\lambda+3}} \right| \leq \int_0^1 |t^2 \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho] - t^{\lambda+2} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(x-a)^\rho t^\rho]| |f'''(tx + (1-t)a)| + \int_0^1 |t^{\lambda+2} \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho t^\rho] - t^2 \mathcal{F}_{\rho,\lambda+3}^\sigma[w(b-x)^\rho]| |f'''(tx + (1-t)b)| dt \leq \\ & \leq \sum_{k=0}^{\infty} \frac{\sigma(k) |w|^k (x-a)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \int_0^1 (t^2 - t^{\rho k + \lambda + 2}) |f'''(tx + (1-t)a)| dt + \\ & + \sum_{k=0}^{\infty} \frac{\sigma(k) |w|^k (b-x)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \int_0^1 (t^2 - t^{\rho k + \lambda + 2}) |f'''(tx + (1-t)b)| dt. \end{aligned}$$

By power-mean inequality and s-convexity of $|f'''|^q$ in the second sense, we get the following inequality:

$$\begin{aligned} |I_1 - I_3 - (I_2 - I_4)| &\leq \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(x-a)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \left(\int_0^1 (t^2 - t^{\rho k + \lambda + 2}) dt \right)^{1-\frac{1}{q}} \left(\int_0^1 (t^2 - t^{\rho k + \lambda + 2}) |f'''(tx + \right. \\ &(1-t)a)^q dt \Big)^{\frac{1}{q}} + \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(b-x)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \left(\int_0^1 (t^2 - t^{\rho k + \lambda + 2}) dt \right)^{1-\frac{1}{q}} \left(\int_0^1 (t^2 - t^{\rho k + \lambda + 2}) |f'''(tx + \right. \\ &(1-t)b)^q dt \Big)^{\frac{1}{q}} \leq \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(x-a)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \left(\frac{1}{3} - \frac{1}{\rho k + \lambda + 3} \right)^{1-\frac{1}{q}} \left(\int_0^1 (t^2 - t^{\rho k + \lambda + 2}) [t^s |f'''(x)|^q + \right. \\ &(1-t)^s |f'''(a)|^q] dt \Big)^{\frac{1}{q}} + \sum_{k=0}^{\infty} \frac{\sigma(k)|w|^k(b-x)^{\rho k}}{\Gamma(\rho k + \lambda + 3)} \left(\frac{1}{3} - \frac{1}{\rho k + \lambda + 3} \right)^{1-\frac{1}{q}} \left(\int_0^1 (t^2 - t^{\rho k + \lambda + 2}) [t^s |f'''(x)|^q + \right. \\ &(1-t)^s |f'''(b)|^q] dt \Big)^{\frac{1}{q}} \text{ and by calculus the proof is completed.} \end{aligned}$$

Corollary 3.8. If in previous theorem we take $s = 1$, then we have,

$$\begin{aligned} |f'(x) \left\{ \frac{\mathcal{F}_{\rho, \lambda + 2}^{\sigma} [w(x-a)^{\rho}] - 2\mathcal{F}_{\rho, \lambda + 3}^{\sigma} [w(x-a)^{\rho}]}{(x-a)^2} - \frac{\mathcal{F}_{\rho, \lambda + 2}^{\sigma} [w(b-x)^{\rho}] - 2\mathcal{F}_{\rho, \lambda + 3}^{\sigma} [w(b-x)^{\rho}]}{(x-b)^2} \right\} + \\ \frac{2[f(x)-f(a)]}{(x-a)^3} \mathcal{F}_{\rho, \lambda + 3}^{\sigma} [w(x-a)^{\rho}] - \frac{2[f(x)-f(b)]}{(x-b)^3} \mathcal{F}_{\rho, \lambda + 3}^{\sigma} [w(b-x)^{\rho}] - f(x) \left\{ \frac{\mathcal{F}_{\rho, \lambda + 1}^{\sigma} [w(x-a)^{\rho}]}{(x-a)^3} - \right. \\ \left. \frac{\mathcal{F}_{\rho, \lambda + 1}^{\sigma} [w(b-x)^{\rho}]}{(x-b)^3} \right\} + \frac{(\mathcal{J}_{\rho, \lambda, x^-}^{\sigma} w f)(a)}{(x-a)^{\lambda + 3}} + \frac{(\mathcal{J}_{\rho, \lambda, x^+}^{\sigma} w f)(b)}{(b-x)^{\lambda + 3}}| \leq \mathcal{F}_{\rho, \lambda + 3}^{\sigma_{3,1}} [w(x-a)^{\rho}] + \mathcal{F}_{\rho, \lambda + 3}^{\sigma_{4,1}} [w(b-x)^{\rho}], \end{aligned}$$

where

$$\sigma_{3,1}(k) = \sigma(k) \left(\frac{\rho k + \lambda}{3(\rho k + \lambda + 3)} \right)^{1-\frac{1}{q}} \left[|f'''(x)|^q \frac{\rho k + \lambda}{4(\rho k + \lambda + 4)} + |f'''(a)|^q (B(3,2) - B(\rho k + \lambda + 3, 2)) \right]^{\frac{1}{q}},$$

$$\sigma_{4,1}(k) = \sigma(k) \left(\frac{\rho k + \lambda}{3(\rho k + \lambda + 3)} \right)^{1-\frac{1}{q}} \left[|f'''(x)|^q \frac{\rho k + \lambda}{4(\rho k + \lambda + 4)} + |f'''(b)|^q (B(3,2) - B(\rho k + \lambda + 3, 2)) \right]^{\frac{1}{q}}$$

$\rho, \lambda > 0, w \in \mathbf{R}$.

Corollary 3.9. If in previous theorem we take $x = \frac{a+b}{2}$, then we have,

$$\begin{aligned} \left| \frac{16}{(b-a)^3} \left\{ f\left(\frac{a+b}{2}\right) \left[2\mathcal{F}_{\rho, \lambda + 3}^{\sigma} \left[w\left(\frac{b-a}{2}\right)^{\rho} \right] - \mathcal{F}_{\rho, \lambda + 1}^{\sigma} \left[w\left(\frac{b-a}{2}\right)^{\rho} \right] \right] - [f(a) + f(b)] \mathcal{F}_{\rho, \lambda + 3}^{\sigma} \left[w\left(\frac{b-a}{2}\right)^{\rho} \right] \right\} + \right. \\ \left. \frac{\left(\mathcal{J}_{\rho, \lambda, \frac{a+b}{2}^-}^{\sigma} w f \right)(a) + \left(\mathcal{J}_{\rho, \lambda, \frac{a+b}{2}^+}^{\sigma} w f \right)(b)}{\left(\frac{b-a}{2}\right)^{\lambda + 3}} \right| \leq \mathcal{F}_{\rho, \lambda + 3}^{\sigma_{3,s}} \left[w\left(\frac{b-a}{2}\right)^{\rho} \right] + \mathcal{F}_{\rho, \lambda + 3}^{\sigma_{4,s}} \left[w\left(\frac{b-a}{2}\right)^{\rho} \right] \text{ where} \end{aligned}$$

$$\sigma_{3,s}(k) = \sigma(k) \left(\frac{\rho k + \lambda}{3(\rho k + \lambda + 3)} \right)^{1-\frac{1}{q}} \left[|f''' \left(\frac{a+b}{2} \right)|^q \frac{\rho k + \lambda}{(s+3)(\rho k + \lambda + s + 3)} + |f'''(a)|^q (B(3, s+1) - B(\rho k + \lambda + 3, s+1)) \right]^{\frac{1}{q}},$$

$$\sigma_{4,s}(k) = \sigma(k) \left(\frac{\rho k + \lambda}{3(\rho k + \lambda + 3)} \right)^{1-\frac{1}{q}} \left[|f''' \left(\frac{a+b}{2} \right)|^q \frac{\rho k + \lambda}{(s+3)(\rho k + \lambda + s + 3)} + |f'''(b)|^q (B(3, s+1) - B(\rho k + \lambda + 3, s+1)) \right]^{\frac{1}{q}},$$

$\rho, \lambda > 0, w \in \mathbf{R}, s \in (0, 1]$.

4. DISCUSSION AND CONCLUSIONS

In this paper a new integral identity is established for three times differentiable mapping involving fractional integral operators in order to present new versions of Hermite-Hadamard like type inequalities, involving the Riemann-Liouville fractional integral, for functions whose absolute values of third derivatives are s -convex in the second sense. Then several consequences in some special cases like when $s = 1$ or when $x = \frac{a+b}{2}$ are presented. The particular case when $\lambda = \alpha$, $\sigma(0) = 1, w = 0$ or some combinations of these three special cases can be also analyzed as new consequences and applications. In addition, new versions of Hermite-Hadamard like type inequalities, involving the Riemann-Liouville fractional integral, for functions whose absolute values of third derivatives are s -convex in the first sense could be established.

REFERENCES

- [1] Hadamard, J., Etude sur le proprietes des fonctions entieres en particulier d' une fonction consideree par Riemann, *J. Math. Pures Appl.*, 58, 171-215 pp, (1893).
- [2] Fejer L., Uber die fourierreihen, II, *Math. Naturwise. Anz Ungar. Akad., Wiss* 1906, 24, 369-390 pp.
- [3] Dragomir, S. S., Fitzpatrick, S., The Hadamard's inequality for s -convex functions in the second sense, *Demonstratio Math.* , 32 (4), (1999), 687-696 pp.
- [4] Dragomir, S. S., Pearce, C. E. M., Selected topic on Hermite-Hadamard inequalities and applications, *Melbourne and Adelaide*, December, 2001.
- [5] Dahmani Z., New inequalities in fractional integrals, *Int. J. Nonlinear Sci.*, 9(4) 2010, 493-497.
- [6] Gorenflo R, Mainardi F., *Fractional calculus: Integral and differential equations of fractional order*, Springer Verlag.
- [7] Set E., Sarikaya M.Z., Ozdemir M. E., Yildirim H., The Hermite-Hadamard's inequality for some convex functions via fractional integrals and related results, *J. Appl. Math. Statist. Inform.*, 10(2), 2014, 69-83 pp.

- [8] Set E., Iscan I., Sarikaya M.Z., Ozdemir M. E., On new inequalities of Hermite-Hadamard-Fejer type for convex functions via fractional integrals, *Appl. Math. Comput.*, 259, (2015), 875-881 pp.
- [9] Sarikaya M.Z., Set E., Yaldiz H., Basak N., Hermite-Hadamard's inequalities for fractional integrals and related fractional inequalities, *Math. Comput. Model.*, 57(9), (2013), 2403-2407 pp.
- [10] Ciurdariu, L., A note concerning several Hermite-Hadamard inequalities for different types of convex functions, *Int. J. of Math. Anal.*, 6(33) (2012), 1623-1639 pp.
- [11] Ciurdariu, L., On some Hermite-Hadamard type inequalities for functions whose power of absolute value of derivatives are (α, m) -convex, *Int. J. of Math. Anal.*, 6(48) (2012), 2361-2383 pp.
- [12] Tirtirau L., Some Hermite-Hadamard type inequalities for exponential convex functions, *Appl. Math. Sci.*, 14 (7), 337-348 pp, (2020).
- [13] Ozdemir M. E., Ekinçi A., Akdemir A. O., Some new integral inequalities for functions whose derivatives of absolute values are convex and concave, *TWMS J. Pure Appl. Math.*, 2(10), 212-224 pp, (2019).
- [14] Ekinçi A., Akdemir A. O., Ozdemir M. E., Integral inequalities for different kinds of convexity via classical inequalities, *Turk J. Sci.*, 5(3), 305-313 pp, (2020).
- [15] Kunt M., Iscan I., Fractional Hermite-Hadamard-Fejer type inequalities for GA-convex functions, *Turk. J. Inequal.*, 2(1), 1-20 pp, (2018).
- [16] Breckner W. W., Stetigkeitsaussagen für eine Klasse verallgemeinerter konvexer Funktionen in topologischen linearen Räumen, *Publ. Inst. Math.*, 23 (1978), 1320.
- [17] Toader G., The hierarchy of convexity and some classic inequalities, *J. Math. Inequal.* 3(3), 305-313 pp, (2009).
- [18] Set E., Dragomir S. S., Gozpinar A., Some generalized Hermite-Hadamard type inequalities involving fractional integral operator for functions whose second derivatives in absolute value are s -convex, *Res. Rep. Coll. RGMIA*, 20, 2017, Art. 14, 13 pp.
- [19] Raina R. K., On generalized Wright's hypergeometric functions and fractional calculus operators, *East Asian Math. J.*, 21(2), (2005), 191-203 pp.
- [20] Agarwal R. P., Luo M. J., Raina R. K., On Ostrowski type inequalities, *Fasciculi Mathematici*, 204, (2016), 5-27 pp.

[21] Barsam H., Ramezani S. M., Sayyari Y., On the new Hermite-Hadamard type inequalities for s -convex functions, *Afrika Matematika*, 32:1355-1367, (2021).